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Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book. ‘
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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. ?WW??H?OF-??~WWW-?VW/ 0T TFo & GIRFT JIT-97 97 4 T8 H 7
7@ 3T 3H9% T B TT T BH JET I LT T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

° PVI T % IX @7 & g7 98 AT X 7 B geryr qof 7 a8 & g F Y 5
7Y d Zig o aar @hare @ A aEm
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

GH~ 35T
(i) & TT sifard &
(i) 57 F$7-99 7 Z7 35 97 & W A G & § G T § T T &
(iii) GO - of H 797 FEw 1 7 18 WWW%JH?’/WWFJ HF B &
(iv) &% - & 7 797 G&I 19 § 25 7% S-TqTTE 497 & J9F 597 F 2 375 &
(v) @8 - 7 597 {&7 26 7 30 TF TEAUNHE J97T & JOF H9T B 3 37 & 7 ge
G&7 31 §F 32 J9% 3 4 9% &
(vi) @Y€ - & § g97 G 33 § 35 7% &7 THUHE J97 & q0F §9T & 5 3% &

(vii) Wﬁ#ﬁmﬂsﬁﬁmwwé‘/ o7 go7t & @ oy BIT g & goT
FTTT &1

General Instructions :
(i) All questions are compulsory.

(i) This question paper contains 35 questions, which are divided into four
Sections : A, B, C and D.

(i) Section — A contains question number 1 to 18 of objective type questions.

Each question carries 1 mark.
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(iv) Section — B contains question numbers 19 to 25 of very short answer type
questions and carrying 2 marks each.

(v) Section — C contains question numbers 26 to 30 of short answer type
questions and carrying 3 marks each and question number 31 and 32
carrying 4 marks each.

(vi) Section - D contains question numbers 33 to 35 of long answer type
questions and carrying § marks each.

(vii) Internal choice is available in all long answer type questions. You have to

attempt only one of the given choice in such questions.

gug — 3
SECTION - A

(Fegfres )

(Objective Type Questions)

1. U oo deift & 7 | 1
(A) TEpEERES (B) SIEHMERIE
(C) «RfeammEREs (D) ggfewEREST

Albugo belongs to :

(A) Ascomycetes (B) Phycomycetes
(C) Basidiomycetes (D) Deuteromycetes
2. fr=fefad d @ 9rife @<ivam (Fesm) fhe g 3ar w7 1
() iRl | (B) wEbatieds
(C) THfeET (D) smeiiarer
Segmentation in the body is first observed in which of the following ?
(A) Platyhelminthes (B) Aschelminthes
(C) Annelida (D) Arthropoda
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3. et & & Reed ovdiadt ofeterd il & ? 1
(A) HE (B) ™
(C) Tgea | | s (D) &R

 In which of the following ovary is inferior ?
(A) Mustard id T (B) Brinjal

(C) China-rose | (D) Guava.

4. R diviewa e orr st e ?
W TR B) T
(C) AR | (D) Gl
Pari_et'al placentation is present in :
(A) Tomato - | (B) Sunflower

(C) Pea (D) Mustard

5. P & & PA-ar o el off freell & frr 72 e ?

() TEEEH ' : (B) %%

l(C) e i (D) T IEHaH

Which of the following organelles does not surrounded by any membrane ?
(A) Ribosome | | (B) Nucleus

(C) Mitochondria 7 (D) Endoplasmic reticulum
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6. fufs ore =%  Frfoiad § § H-a1 ov0r (V) Rergitre dogq & I8 787
B B ? 1

(A) SRaRERs ot ¥ Rifes o
B) fufes ot @ o-HIGeRE I
(C) TIWH o7 q FHRE oT

(D) A ot ¥ SfRvEies ot

In citric acid cycle, which of the following step is not catalysed by
dehydrogenase enzyme ?

(A) Oxaloacetic acid to citric acid
(B) Citric acid to a-ketoglutaric acid
(C) Succinic acid to fumaric acid

(D) Malic acid to oxaloacetic acid

7. R # Es e Seae Rer s § 7
(A) 9 F gBH P Ty i F B R
(B) THEX & THM H Ay 6 HH F forg
(C) el H THM B T gom B fog
(D) (B) X (C) 3t
Ethylene is used for :
(A) Slowing down ripening of Apples
(B) Slowing down ripening of Tomato
(C) Hastening of ripening in Fruits
(D) Both (B) & (C)
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8. PEP frad CO, @ Wl wel o & 7 I 1

(A) Cp Tt F |
(B) Cs q&t &
(C) Ca e &
(D) (B) &R (C) &t &
PEP is primary CO, acceptor in :

“(A) Ca plants
(B) Cs plants -
(C) Ca plants |

(D) Both (B) & (C) .

9.ﬁwﬁff@ﬁﬁ%_%iﬂ-m‘eﬁﬁwn‘r%ﬁﬁmmw%? 1
(4) T TEifes o= (TE) |
B) (2,4 9) 2, 4 SEFNAMRN Thies o
(©) e e o (aTETY)
(D) T § %15 &
Which of the following auxin has been isolated from plants ?
(A) Naphthalene acetic acid (NAA)
(B) 2, 4-dichlorophenoxy acetic acid (2, 4-D)
(&) indole acetic acid (IAA) .
(Di None of these
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10. Fr=fafad § § P-4 GHHCRES & 7

11.

12.

(A) mraﬁmﬁf%maﬁ (B)

13.

2630

(A) FfeH | (B)
©) SRR (D)
Whic.h of the following is a glucocorticoid ?

(A) Cortisol (B).
(C) Nor-epinephrine . (D)

Mo fFEd o &N § B ® 7

(A) STRiferF oT  (B)
(€) A o 'y D)
Gout is.caused due to the accumulation of :
(A) Oxalic acid (B)

(C) Lactic acid | (D)

R 3 s Rt g o ¥ 7

(C) (A) 3R (B) B (D)

Node of Ranvier is found in :

(A) Non-myelinated nerve fibres (B)
(C) Both (A) and (B) (D)
AR o 9 By &

(A) e (B)
(C) oy (D)

REEETR
TeEIE

Epinephrine

Aldosterone

IR A & H
PicqIH FEE

Uric acid crystals

Calcium carbonate

S UG ECIRGES|
T § B T

Myelinated nerve fibre

None of these

EESICIRED
ey
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Oxygen dissociation curve is :

(A) Parabolic ' (B) Hyperbolic

(e} Sipmoid’ | | (D) Straight
14.@aﬁ1@ﬁqmmﬁwﬁmﬁmﬂaﬁaﬁraﬁﬁm%? 1

(A) 2 1 B) 4

(C) 6 (D) 8

One molecule of haemoglobin can carry a maximum of how many molecules of

oxygen ?
(A) 2 (B) 4
(C) 6 : (D) 8

friifed Sl mee (W9 §@ 15, 16, 17 SR 18) ¥ aiftee™ (A) & Fo fRar @
A IS F N FROT (R) T FF R ™0 21 A B W AR R ge Ry mu g
B TEIT § @& IAX B agqT HiY

In each of the following questions (Q. No. 15, 16, 17 & 18), a statement of
Assertion (A) is given followed by a corresponding statement of Reason (R)

just below it. Of the statement, choose the correct answer using the codes

given below.
(A) S (A) TF FRT (R) A1 W W FROT (R) o (A) @ w8 sren B

(B) SN (A) W FRT (R) A T ¥ W B (R) e (A) B @ o
Bl

(C) i (A) G ¥ AR BT (R) T B
(D) ¥ (A) T FROT (R) T T
2630
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(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true but Reason (R) is false.

(D) Both Assertion (A) and Reason (R) are false.

15. oA (A) : Y G § A-¥e IR -9 AN @ T B @ S B 1

FR (R) : A-S5 & TARE oK -9 & Qs W dgEnei e & R el H§ge
F I A TR () ¥ B & 0 o

Assertion (A) : In muscle contraction, length of both A-bands and I-band
decreased.

Reason (R) : Both myosin of A-band and actin of I-band are contractile

proteins and decrease in size during muscle contraction.

16. ST (A) : uvE Gy AR E wled SRR @ dd-ereged eH o Fed 1

PRI (R): ADH THiv® dafid kil (PCT) Td €I Aiael & qRemaal # 8 g,
R ol 1 O STl o @ SR g S HH e B

Assertion (A) : Vasopressin released by posterior pituitary is also called Anti-
diuretic Hormone (ADH).

Reason (R) : ADH increases the permeability of (PCT) Proximal Convoluted
Tubule and collecting tubules to increase reabsorption of water
and decrease the urine output.

17, @Y (A) ¢ Ca TF H GAN A Cq THY TLQYONAH T S71AH T o 1
HRT (R) : Cs4 Tdl & Y191 996 &l e 2|
Assertion (A) : C4 photosynthetic pathway is more efficient than the Cs pathway.
Reason (R) : In C4 plants photorespiration does not occur.
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18. SR (A) @ WEEHTEA T IR e o 2 1
FOT (R): ¥ T QA AR o & B & o ¥ ol o Seag @ar § AT ddm

SRS LIRS RV F i i

Assertion (A) : Mitochondria and chloroplast are semi-autonomous organelles.

Reason (R) : They are formed by division of pre-existing organelles and

contain DNA but lack protein synthesizing machinery.

TS -§
SECTION - B

( otfr ST 99 )
( Very Short Answer Type Questions )

19. M Bl & grdw (gfewa) Frem @ 8 7 2

What are the universal rules of nomenclature ?

20. A B BT B FT SAER & 7

2
What is the basis of classification of Algae ?
21. SN #i fedae wd goas S & ongs a4 i ® 7 5
What do you mean by secondary and tertiary structure of protein ?
22. HE i oA G aer & wre s a@ e ¥ 7 5

Define Respiratory Quotient. What is the Respiratory Quotient of fat ?
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23. @@ 3 A fifay

Write down the functions of Lymph.

24. o & w77 #d ¥ 7

What are the functions of Gibberellins ?

S

OR

SR T80T F g g w/qr ¥ 7

What are the crucial events in aerobic respiration ?

25. TS g o ¥ 7

What are the main functions of the root system ?

HAYTT

OR
Rrufemrg B @2 ¥ 7 03 R THX M E 7
What is Venation ? What are various types of it ?

2630
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27.

28.

29.

2630
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SECTION - C

( TS 9T )

( Short Answer Type Questions )

AR R & geife=rg it SereTer |fed qui i

Explain with suitable examples different type of phyllotaxy.

doey fohdr & SRS b @ IO P guie it

Describe the steps of catalytic cycle of an enzyme action.

sttt st (e o) & A R

Write down the functions of Endoplasmic reticulum.

ﬁlﬂﬁﬁfaﬂ%g@ww%?

What are the various steps of glycolysis ?

OR

ThId HIE-HREHIAIH H qoi i)

Describe cyclic photophosphorylation.
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- 30. Tl qu (rafis) & orgye HC H ARG o SR 3

Draw a well labelled diagram of T. S. Dicot root (Primary).

e
OR
THSIOTE T Pl ST FC H AR [ TR

Draw a well labelled diagram of T. S. of Monocot stem.

31{

(A) . (B)

mﬁﬂﬁﬁﬁﬁaaﬁqmmaﬁ(qﬁw)aﬁmﬁqqﬁﬁqﬁﬁ@ﬁqﬁ%wﬂﬁw:

Identify the animals A and B shown above in the figure and answer the

following questions :

2630
e P.T.O.
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(a) o SEd R aXe H gREsEr o U S € 7 1
Which type of circulatory system is present in these animals ?
(b) = AR T frE TR 3 SEtRed O Il ofT WY S € 7 w

¥ 1 alg 2
Which are osmoregulatory and excretory organs present in these animals :

() AT B el (TFmed) & Seie T 1§ ? 2

What are the scientific name of animals A and B ?

SR

OR
P81 TR IHARIMAA T BE-q1 T () i 7
Which one of the animals is monoecious & which one is dioecious ?

CYTOPLASM

CYTOPLASM
NUCLEUS NUCLEUS

32.
NU::‘LEUS
(A) (B) (C) (D) (E)
SR o # e TR 3 @@ERe it ¥ 3R s o freiiRed weet @
I AR
Different types of Leucocytes are shown above in figure. Identify these and
answer the following questions :
(a) red FHEECH § ¥ g9 f¥E Tem ¥ PE-ar 9 o g ? |
Which one is the most abundant cell of total leucocytes ?
2630
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(b) -9 G § G99 $9 O & 7 1

Which is least in number ?

(c) TIHIEES H & THR H WIvT Rl & A0 Rk 2

Name two types of phagocytic cells in leucocytes.

3Terer
OR

T8 TR & TgERe Qo Haker O e sl § e 8 @ 7

Which type of leucocyte is involved in allergic and inflammatory reactions ?

G -§
SECTION - D
(& TS e )

( Long Answer Type Questions )

33. T U IFTOH H IR W o . 5

Differentiate between Chordates and Non-chordates.

YqT
OR

seTiter @ & e @ it o gaeer A

Write dowri the salient features of phylum Echinodermata and give examples.
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34, FRE REOE & TR fREeE-11 & o Hm

Describe Meiosis-II of cell division.

OR

' TR % T @ R

35.

2630

Write down the classification of Enzymes.

e TR & HeT 9 A PR

Describe the transmission of nerve impulse.

HIAr

OR

SR (et ) ) et gt 1 vt R

Describe various disorders of circulatory system.
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